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Fill In The Blanks

1. Two hour is equal to seconds.

° Watch Video Solution

2. The motion of moelecules in a solid is an example for motion.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6xe0Er0RDZUK
https://dl.doubtnut.com/l/_KovzNpGd7kBK

3. One millisecond is part of a second.

o Watch Video Solution

1

4. A body moving with velocity of 10ms™ " increases its velocity to

20ms ~ ' in 2 s. then the rate of change in velocity is __ -

o Watch Video Solution

5. A car moves with a contant velocity m its average velocity is equal to

o Watch Video Solution

6. The time period of a simple pendulum depends on its

o Watch Video Solution



https://dl.doubtnut.com/l/_vrtM2MGb6f3Z
https://dl.doubtnut.com/l/_Z8ouJgBFjQC7
https://dl.doubtnut.com/l/_Tj5sR7C6PnL5
https://dl.doubtnut.com/l/_1lq59uuufU97
https://dl.doubtnut.com/l/_EptNsP0uB7lw

7. A body moves with unifrom spedd of u ms ! towards east , then the

body is said to possess velocity.

° Watch Video Solution

8. The time taken by the bob of a simple pendulum of time period (T) to

move from one exrtreme positon to other extreme position is equal to

° Watch Video Solution

1. Choose the corredct statement :

A. the magnitudes of speed and velocity are same when a body travels

in a stright line path.


https://dl.doubtnut.com/l/_EptNsP0uB7lw
https://dl.doubtnut.com/l/_somsdBKtpgEK
https://dl.doubtnut.com/l/_lDX8Sec2uxx5

B. Average speed ofa moving body can be equal to zero, but its
average velocity cannot be equal to zero.
C. To describe the velocity, direction is necessary.

D. Both (A) and ©

Answer: D

o Watch Video Solution

2.The ratiro of unit of accceleration and velocity gives unit of the physical

quantity

A. time
B. frequency
C. amplitude

D. speed

Answer: B



https://dl.doubtnut.com/l/_lDX8Sec2uxx5
https://dl.doubtnut.com/l/_sMVFSzTR4qUs

| ° Watch Video Solution

3.Unit of speedis

-1
A.m min

B.kmh !
C.kms( — 1)

D. All the above

Answer: D

° Watch Video Solution

4. The motion of a body is depicted graphically as shown in the figure,

then the average speed of the body is ms~


https://dl.doubtnut.com/l/_sMVFSzTR4qUs
https://dl.doubtnut.com/l/_lUEneIKPCmF3
https://dl.doubtnut.com/l/_GiF0VvoZiyWp
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GiF0VvoZiyWp

5. The speed of the tip of a second hand of length 5 cm of a clockis

ms !

Al

B. 60

C.5.3x1073

D.3.4 x 10°°

Answer: C

o Watch Video Solution

6. The time period of a pendulum is independent of

A. length of the pendulum

B. mass of the bob

C.shape of the bob

D. both (b) and ©


https://dl.doubtnut.com/l/_hGW9v67ELnAP
https://dl.doubtnut.com/l/_JmHjGLVlvha0

Answer: D

° Watch Video Solution

7. the distance between two stations is 20 km. if a train moves with a
constant speed of 60kmh ~! , then the time taken by the train moves
with a constant speed of 60kmh ! , then the time taken by the rain to

reach the next station is

A. 2 hour
B.20 min
C. 20 sec

D. 40 min

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JmHjGLVlvha0
https://dl.doubtnut.com/l/_8dTEKV6SwlQ5

8. The distance -time graph of an object is a straight line parallel to the

time axis , then the object is

A. at rest

B. in uniform motion

C. moving with a unifrom speed

D. moving with a non-uniform speed

Answer: A

o Watch Video Solution

9. A car moves with a speed of 60kmh ! for 20 min and then at a speed
of 30kmh ! for the next 20 min. the total distance covered by the car is

km.

A.10

B. 20


https://dl.doubtnut.com/l/_DIF1zgni6Ula
https://dl.doubtnut.com/l/_SGxNRe9XO6Uo

C.30

D. 40

Answer: C

o Watch Video Solution

10. The distance- time graph of a body is as shown in the figure. The part
of the graph that represent the unifrom speed of the body is

Y

>
9!

Distance —>

\Y
x

Time —>

-0

A. OA

B. AB


https://dl.doubtnut.com/l/_SGxNRe9XO6Uo
https://dl.doubtnut.com/l/_lLevICYB8OFn

C.BC

D. Both OA and BC

Answer: D

° Watch Video Solution

11. A body moves with a unifrom speed of 10kmh ! for 2h. The average

speed of the body is kmh !

A.10
B. 20
C.5

D. 25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lLevICYB8OFn
https://dl.doubtnut.com/l/_qJdkZKKP2TTF
https://dl.doubtnut.com/l/_Qrx5rphUzaIn

12. write Sl and CGS unit of any three physical quantities?

° Watch Video Solution

Answer: B

o Watch Video Solution

14. Choose the corrct statements (s)

A. speed and velocity both have same units.


https://dl.doubtnut.com/l/_Qrx5rphUzaIn
https://dl.doubtnut.com/l/_YTTFguBJ3l88
https://dl.doubtnut.com/l/_WVSqJEqs1lcH

B.if a body has a speed of 50ms ! in a striaght line path , then its
velocity is 180 km h”(-1)’
C. speed ofa vehicle is measured by a device called speedometer.

D. All the above

Answer: D

o Watch Video Solution

15. A person starts from a point P and travels along a path PQRS as shown

in the figure, then speed of the personis ms
R
3m
Q 4m P

(20 seconds)

A.0.2


https://dl.doubtnut.com/l/_WVSqJEqs1lcH
https://dl.doubtnut.com/l/_XmLaawRcmR33

B. 20

D.04

Answer: A

o Watch Video Solution

16. A simple pendulum was given to a physics student to determine its
time period. Arrange the following steps in sequential order to determine
its time period.

(A). Calculate the radius of the bob 'R' by divding the diameter by 2.

(B) Take a metre scale and measure the length of the string from the
point of suspension to the lower tip of the bob (I;)

(C). Place the bob over a meter scale and hold it in postion with two
wooden blocks of stiff cadboards. Measure the diamter (D)of the bob.

(D). NOW, the length of the pendulum (1) is given by (I; — R)


https://dl.doubtnut.com/l/_XmLaawRcmR33
https://dl.doubtnut.com/l/_JYS0fhHWKXPf

E. Consider the formula T' = 2. i calculate.
\/ g

The time period of the simple pendulum.

A. ABCDE
B. EDCBA
C. BCCADE

D. DEABC

Answer: C

o Watch Video Solution

17. A body cover 20 m in 2 s and another 20 m in next 4s. Arrange the

following steps in sequential order to find th average velocity of the body

(A) Find the displacements of the body in first 2s and next 4 s from the
given data.

(B) find the displacements of the body .


https://dl.doubtnut.com/l/_JYS0fhHWKXPf
https://dl.doubtnut.com/l/_vDD6Lb7xlnsV

(C) find the total time taken by the body to complete the total

displacement .

total displacement

D) Use the formula, average velocity =
() g y Total time taken

A. ABCD

B. ADCB

C. DCBA

D. DBCA

Answer: A

o Watch Video Solution

18. In the case of a simple pedulum a fraoh is drawn between th
displacement and time taken for its oscillations as shown in the figure

then.


https://dl.doubtnut.com/l/_vDD6Lb7xlnsV
https://dl.doubtnut.com/l/_2Ust7F3SRL4u

Time period of the pendulum bobis

== 3
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Displacement (A)°"
! @)

A.9

B.6

C.45

D.3

Answer: B

o Watch Video Solution

19. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure .


https://dl.doubtnut.com/l/_2Ust7F3SRL4u
https://dl.doubtnut.com/l/_8SaspF1WkSQf

Then

The number of oscillations completed by the bob in one secondis .

Y

O

> X
37619 /12 |15/18 21
—1% ______________

Time (s) ——>

Displacement cm

A1l/3
B.1/3
c.1/9

D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8SaspF1WkSQf

20. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure .

Then

The amplitude of oscillation of the pendulum of the bobis  cm.

Displacement cm

Time (s) ——>

A.15

B.5

C.25

D.75

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AC2A1zmY5TEa

21. In the case of a simple pendulum, a graph is drawn between the
displacement and time taken for its oscillations as shown in the figure .
Then

From the given figure, the number of oscillation performed by the bob at

the end of 21s is

Y
150
[&]
& O . >X
& 3/6 \9 /12 l15/18 21
3
g ’15v----‘. .........
Time (s) —>
A3
B.4
C.2
D.3!/2

Answer: D


https://dl.doubtnut.com/l/_AC2A1zmY5TEa
https://dl.doubtnut.com/l/_lcpWeyXlndWX

° Watch Video Solution

22. Choose the correct statement :

A. Every oscillatory motion is periodic in nature.

B. Every periodic motion is oscillatory in nature.

C.The motion of a pendulum bob is periodic in nature ( within its

small amplitude)

D. Both (a) and ( ¢)

Answer: D

° Watch Video Solution

23. Choose the correct statement

A. Unit of acceleration is ms 2

B. Speed = distance/ time .


https://dl.doubtnut.com/l/_lcpWeyXlndWX
https://dl.doubtnut.com/l/_uAcawx3q2yoO
https://dl.doubtnut.com/l/_Wlfqbh0M9GRv

C. Magnitude of displacement made by a body is less than or equal to

the distance travelled by the body.

D. All the above

Answer: D

o Watch Video Solution

24. what is uniform motion ?

o Watch Video Solution

25. Assertion: A body having non zero acceleration can have a constant

velocity.

Reason: Acceleration is the rate of change of velocity.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true, but R is not the correct explanation of A.


https://dl.doubtnut.com/l/_Wlfqbh0M9GRv
https://dl.doubtnut.com/l/_4ngdLehb2ek2
https://dl.doubtnut.com/l/_dHtMRiNkRXhq

C.Ais true but R is false

D. Both A and R are false.

Answer: A

o Watch Video Solution

26. The time period of a simple pendulum is 4 s and the acceleration due
to gravity at the given place is 9.8ms 2 . Write the following steps in

sequential order to find the length of the pendulum.

T?. g

(A) From the above formula, write the value of l and [ = =
7y

(B) Note the given values of the time period (T) and acceleration due to

gravity (g).
. |1 .
(C)Write the formula, T = 27 E , Where | is the length of the

pendulum.

(D). Substitute the given data and get the value of .

A. CDBA


https://dl.doubtnut.com/l/_dHtMRiNkRXhq
https://dl.doubtnut.com/l/_Q0VWi99Xqa8W

B. ABCD

C.BCAD

D. ADBC

Answer: C

o Watch Video Solution

27. A car starts from and attains a velocity of 54 km h~! if the
acceleration of the car is from rest and attains a velcoity of 54 km h ! . If

the acceleration of the car is 3ms 2

, write the following steps in
sequential order to find the time taken to accelerate the car.

(A) Write the relation between u,,a and t, where t is the time taken to
accelerae the car.

(B) Note the final velocity (v) and convert it into Sl unit.

v—u
(D) substitute the given values and obtain the vlaue of t using t =

a

A. ABCD

B. ABCD


https://dl.doubtnut.com/l/_Q0VWi99Xqa8W
https://dl.doubtnut.com/l/_i1MkWwkMhsJG

C. CADB

D. CBAD

Answer: d

° Watch Video Solution

28. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.

Y
101‘\
\

5 AW
= 0 ", | )
) 2 4 6 8 \ /10
£
Q
3 104vweMoneadwsesManann -
- ) _
g Time (s)—>

° Watch Video Solution



https://dl.doubtnut.com/l/_i1MkWwkMhsJG
https://dl.doubtnut.com/l/_Hqp5y9cilMW9

29. The number of ocscillations performed by the bob at the end of 10 s
is

A 41/2

B.5

C.6

D.12!/2

Answer: B

o Watch Video Solution

30. A graph is drawn between the displacement and time taken for the
oscillations of a simple pendulum is 2s. The length of the penddulum is

m(ii‘g=103_2 and 72 = 10)

A2

B.1


https://dl.doubtnut.com/l/_US1qXKdVjGVl
https://dl.doubtnut.com/l/_uNvZvq86gl83

C.05

D.0.25

Answer: B

o Watch Video Solution

31. The frequency of oscillation is

A.05
B.2
C.50

D. 100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uNvZvq86gl83
https://dl.doubtnut.com/l/_m5hx0aJzv4DB

32. An electric motor winds 200 turns of a thin coper wire on a unifrom of
diameter 10 cm, in 2 seconds.then the length of the wire that is wound

over therod inonesecondis __ m.

A.30

B. 107

C. 207w

D. none of these

Answer: B

o Watch Video Solution

33. An ant moves along the identical steps from P to Q as shown in the

figure in a figure in a duration of 8.5 seonds. Then the speed and velocity


https://dl.doubtnut.com/l/_APEHuBRgSiwU
https://dl.doubtnut.com/l/_HQ9rn1q5pFY0

of the ant respectively are ms 'and _  _ms

e mshand

B TR

ms’

vemft Yam | !
p € , s D B —> Q
4.5
A 0.D, —
0.5, =
B.0.5,0.5
c 2 A5
17 17

D. Cannot be determined

Answer: A

o Watch Video Solution

/1
34.I1f T' = 2m, | — is the time period of a simple pendulu, then the unit of
9

l
47T2ﬁ in the Sl system is


https://dl.doubtnut.com/l/_HQ9rn1q5pFY0
https://dl.doubtnut.com/l/_UKH4lM7pkOqk

Answer: C

o Watch Video Solution

35. The motion of a body is depicted graphically as shown in the given

figure. Then the average speed of the body is m-


https://dl.doubtnut.com/l/_UKH4lM7pkOqk
https://dl.doubtnut.com/l/_CjtEhjAo7xqg

RN

D0}~
:)Xf’ i

T

"é“ ﬁs x
~ Fd j
3 / ;
C s :
S B )
@0 5
Q i/ :

0 10 time (second)

A2

B. zero

C. 200

D. 20

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CjtEhjAo7xqg

36. A vechicle travels along a straight path between two places a and 2.
It travels first half of the distance with a velocity of 72 km h~1 and the

remaining distance with a velocity of 36 km h ~! then the average velocity

of the vehicleis ms
- |
! A !

04 (5

A.11.3

B.13.3

D.14

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3UQHGf9xjgVT

37.

Column A ColumnB
(A)A body covers 5 m in every subsequent second (a)Lunar month

B)Equal distances in unequal intervals of time )Non-uniform speed

( (b
(C)Periodic motion of the moon around the earth (c)Years
(D)Approprite unit to express the age of a person (

d)Constant speed
AA—bB—cC—dD—a
BBA—d,B—bC—a D —c
CA—d,B—a,C—bD—c

DDA —a,B—>bC—c¢,D—d

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pyxLtJ4PawQo

1.
ColumnA ColumnB

A. Periodic motion a. maximum displacement of vibrating particle from

B. Vibrtory motion b. The pistion of a motor car engine at uniform car en

C. Body at rest c. Non- uniform motion

D. Amplitude d.18 /5kmh 1

E. Variable speed  e. OScillating objects undergo change in shape of size
-1 Total displacement

F.1ms f Total time

G. Average velocity g. Zero velocity

o View Text Solution

2.

ColumnA ColumnB

A. Curbulinear motion a. motion that repeats itself irreg
B. Rectilnear motion b. Wings of a ceiling fan

C. Rotatory motion c. A stonedropped from a towar

D. Body moving with uniform velocity d. A stone dropped from a towar
E. Length of a pendulum e. point of supendsion to the mid-
F. Time period of a simple pendulum f. Square root of the length of the

G. Non-periodic motion g- Zero acceleration

o Watch Video Solution



https://dl.doubtnut.com/l/_Bw5Vh8cndrQK
https://dl.doubtnut.com/l/_QQHzpUIBDCcT

3.

Column A Column B

A. cicular motion a. Vechicle crc
B. Rectilinear motion b. One to-and-
C. Curvilinear motion c. Distance-tir
D. == d.100cm

E. Constant speed e. Time (t)

F. Oscillation f- A spinning

G. The length of a seconds pendulum (takingg = 10ms™~ 2) g. Coin movin;

° Watch Video Solution

1. One hour is equal to 360 second.

° Watch Video Solution

2. The motion of a simple pendulum is an example of oscillatory motion. ?

° Watch Video Solution



https://dl.doubtnut.com/l/_SJrOqeDMWZdT
https://dl.doubtnut.com/l/_bQyGn19o6QOu
https://dl.doubtnut.com/l/_yWojyWlYm69e

3. A nanosecond is one billionth of a second.

o Watch Video Solution

4. When an object is moving with a unifrom speed, its average speed is

equal to its speed

o Watch Video Solution

5. We can use a simple pendulum to measure the time.

o Watch Video Solution

6. By using distance-time graph we can find out the average speed of an

object.

o Watch Video Solution



https://dl.doubtnut.com/l/_yWojyWlYm69e
https://dl.doubtnut.com/l/_zRjeFxCevS8w
https://dl.doubtnut.com/l/_0OYQ025Wj0Of
https://dl.doubtnut.com/l/_lRxDI9WlvuNe
https://dl.doubtnut.com/l/_uCyDvvc1OvK6

7.Speedoneter is used to measuere the distance travelled by a vehicle.

o Watch Video Solution

8. The distance-time graph of the motion of an object moving with a

contant speed is a straight line.

o Watch Video Solution

9. measures the distance moved by a vehicle.

o Watch Video Solution

10. A body is said to be moving with unifrom speed if it covers equal

distance in

o Watch Video Solution



https://dl.doubtnut.com/l/_Uq7caHFSJaP2
https://dl.doubtnut.com/l/_BHFY907P8mjs
https://dl.doubtnut.com/l/_ylnDGWDXy06A
https://dl.doubtnut.com/l/_ElYb8zRdTvsu
https://dl.doubtnut.com/l/_MhbStdLymoXj

11. One microsecond is of a second.

o Watch Video Solution

12. Sl unit of speed is

o Watch Video Solution

13. One Kilometer is equal to metre.

o Watch Video Solution

14. The time taken by the pendulum to complete one oscillation is

o Watch Video Solution



https://dl.doubtnut.com/l/_MhbStdLymoXj
https://dl.doubtnut.com/l/_ydDUgF9hCpj8
https://dl.doubtnut.com/l/_Cc3LsaKQXB7L
https://dl.doubtnut.com/l/_Ql8mYpfU4pBn

15. The distance coverd by an object in a unit time is known as the

of the object.

° Watch Video Solution

16. An object moving along a straight line with a constant speed is said to

° Watch Video Solution

17. the velocity of the bob of a simple pendulum is minimum at

° Watch Video Solution

18. The time period of a simple pendulum of length 1 m is second. (

take 72 = 10. g = 10ms ~2)

° Watch Video Solution



https://dl.doubtnut.com/l/_wvgHcKdNbg6y
https://dl.doubtnut.com/l/_7rVJ2ImjhCGe
https://dl.doubtnut.com/l/_Ny4hMBp6uvUV
https://dl.doubtnut.com/l/_1Y8l1sKtFihE

Level 1 Mcq

1. Choose the correct statement:

A. Every osillatory motion is periodic in nature.

B. Every periodic motion is oscillatory in nature.

C.The motion of a pendulum bob is periodic in nature ( within its
small amplitude)

D. Both (a) and ( ¢)

Answer: D

° Watch Video Solution

/1
2.If T = 2m, | — is the time period of a simple pendulu, then the unit of
g

l
47T2F in the Sl system is


https://dl.doubtnut.com/l/_1Y8l1sKtFihE
https://dl.doubtnut.com/l/_80NqpkpCKYAQ
https://dl.doubtnut.com/l/_uYFucuKua1yb

Answer: C

o Watch Video Solution

3. Can the speed of a body be begative ?

A. positive

B. negative

C.zero

D. Both (a) and (b)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uYFucuKua1yb
https://dl.doubtnut.com/l/_P1IU7oE6gZKa

4. The motion of a body is depicted graphically as shown in the given

figure. Then the average speed of the bodyis m~?

Y
A8

P

E / j;‘

c s :

by :

D ;

o -: |
Vo 3 X

0 10 time (second)

A.The average speed of the body is 2ms -1
B. the average speed of the body is zero.
C. the body changes its direction twice.

D. All the above


https://dl.doubtnut.com/l/_P1IU7oE6gZKa
https://dl.doubtnut.com/l/_pKLjMjsXuZH2

Answer: A

° Watch Video Solution

5. A body travels 10 m in 2s then the speed of the body is ms~

A .20

B.40

C.5

D.10

Answer: C

° Watch Video Solution

1

6. A body moves with a speed of 2rms ™ " in a cirular path of radius Tm,

then the time taken to compete one revolution is


https://dl.doubtnut.com/l/_pKLjMjsXuZH2
https://dl.doubtnut.com/l/_GcP3x9fHoCia
https://dl.doubtnut.com/l/_EJDFBXKAeQvy

A1l

B.2

C.3

D.4

Answer: A

o Watch Video Solution

7. The odometer of a bus reads 6700 kim when it starts from the station
at 9.m. and when it comes back to the sation at 10 p.m. the odometer
reading is found to be 6960 km, then the average speed of the bus in the

would journey is kmh !

A.10
B. 20
C.30

D. 40


https://dl.doubtnut.com/l/_EJDFBXKAeQvy
https://dl.doubtnut.com/l/_y9QkKtuaINSQ

Answer: B

° Watch Video Solution

8. A pendulum completers 120 oscillations hin one minute then the time

period of the pendulum is s.

A 0.5

B. 120

C.2

D.3

Answer: A

° Watch Video Solution

9. A body moves with a contant speed of 10ms ~* for 1 hour. The distance

travelled by the body is


https://dl.doubtnut.com/l/_y9QkKtuaINSQ
https://dl.doubtnut.com/l/_16qFd3xlGh6z
https://dl.doubtnut.com/l/_WRKZDcnmcasT

A. 36,000 km

B. 36 km

C. 24 km

D.24 x 10°m

Answer: B

o Watch Video Solution

10. It takes 1 s for the bob to moves from one extreme position to other

extreme postion. Then the time period of the pendulumis _  s.

A1l

B. 2h

C.3

D.4

Answer: B



https://dl.doubtnut.com/l/_WRKZDcnmcasT
https://dl.doubtnut.com/l/_YUxd2rXQo1rU

| ° Watch Video Solution

11. A body projected upwards from the top of a builing is an example of

A. uniform motion

B. non-uniform motion

C. periodic motion

D. oscillatory motion

Answer: B

° Watch Video Solution

12. Distance versus time graph of an object is as shown in the figure. The

average speed of the object is ms


https://dl.doubtnut.com/l/_YUxd2rXQo1rU
https://dl.doubtnut.com/l/_6OQBL7j43d3I
https://dl.doubtnut.com/l/_IrNA8h5EC1xr
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A.0.08

B.0.5

C.1

D.2

Answer: A

° Watch Video Solution

_ kmh!

13.20ms !


https://dl.doubtnut.com/l/_IrNA8h5EC1xr
https://dl.doubtnut.com/l/_mBwth88cszrp

A 125

B.72

C.50/9

D.32

Answer: B

o Watch Video Solution

14. Choose the correct statement:

A. Unit of acceleration is ms 2

B. Speed = distance/ time .

C. if a body moves with unifrom elocity, its acceleration is zero.

D. All the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mBwth88cszrp
https://dl.doubtnut.com/l/_TPnrwcIQVUOO

15. A car drive accelerates the car to increase its speed from 30 km A~ ! to
60kmh ~! in 5 min. Arrage the following steps a sequence to obtain the
acceleration of the car.

(A) Use the formula , rate of «change of Vvelocity =

Total change in veclocity

Total time required for change

(B) Obtain the final velocity (v) , of the car.

(C) Find the time taken to increase the speed of the car from u to v let it
be 't'

(D) find the initial velocity (u) of the car.

(E) Substitute the values in the formula and calulate the acceleration of

the car.

A. EABCD

B. ABCDE

C. DBCAE

D. EDCBA


https://dl.doubtnut.com/l/_TPnrwcIQVUOO
https://dl.doubtnut.com/l/_xO7rdw3QC7WA

Answer: C

o Watch Video Solution

16. Find the acceleration due to gravity on the surface of the moon by
taking a seconds pendulum from the earth's surface. Arrange the
following steps in sequential order to solvbe the above problem.

(A) Find the time period of this simple pendulum on the surface of the
moon using a stop clock [T},]

(B) The acceleration due to gravity on the moon (gm) is 1/6th the

accleration due to gravity on the earth (ge).

(C) Use the formula , T = 27 /i
)

(D) first , take pendulum to the surface of the moon without altering the

length of the pendulum (1), .

T
(E) Substibe the value of T in (a), then £ g—M, and obtain the value
v\ 9E

of (gm)

A. ABCDE


https://dl.doubtnut.com/l/_xO7rdw3QC7WA
https://dl.doubtnut.com/l/_kVnVd9pPrXJq

B. DACEB

C. CBADE

D. CABED

Answer: B

° Watch Video Solution

17. The frequency of oscillation of seconds pendulum is HZ.

A.05

B. 2h

C.50

D. 100

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kVnVd9pPrXJq
https://dl.doubtnut.com/l/_3LzqFhHP24ZH
https://dl.doubtnut.com/l/_dELfFXuWlmse

18. The number of ocscillations performed by the bob at the end of 10 s
is

A 41/2

B.5

C.6

D. 2!/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dELfFXuWlmse

19. The time taken to complete 100 oscillations is

A

IR
SUV*

Displacement (m)

t (second)

A.100

B. 200

C.50

D. 25

Answer: B

o Watch Video Solution

Level 1 Macth



https://dl.doubtnut.com/l/_zpI7bzEVRRxD

1.

Column A ColumnB

A. Vibratory motion a. Distance-time graph is not a straight line
B. Rotatory motion  b. speed X time

C. seconds travelled c. musical instruments
D. Distance travelled d. the rate of change of motion in specific direction

E. Variable speed e. Potter’swheel
F'. Velocity f-2s

o Watch Video Solution

Column A ColumnB

A. Speed a. Uniform motion

B. Time b. Non-uniform motion
2. C. Average speed c.kmh™ !

D. Uniform speed in a straight line d. second

E. Freely falling body e. Change in time period

f Total distance
Total time

F. Change in length of a pendulum

o Watch Video Solution



https://dl.doubtnut.com/l/_1Qavpe55EmA9
https://dl.doubtnut.com/l/_4vpnP2GdKJpZ

3.
Column A ColumnB

A. Non- uniform motion a. To measure speed of the vehicle

B. Oscillatory motion  b. Uniform motion

C. Mean position c. A criket ball that rolls over ground

D. Speedometer d.The needle of sewing machine that moves up a:
E. Constant speed e. Freely suspended pendulum at rest

F. Acceleration g Total change in velocity

* Total time taken for change

o Watch Video Solution

Level 2 Mcq

1. A vechicle travels along a straight path between two places a and 3. It

travels first half of the distance with a velocity of 72 km A~ ! and the

remaining distance with a velocity of 36 km k! then the average velocity

of the vehicleis ms !
-
: - |


https://dl.doubtnut.com/l/_rYIfbYO08Iu3
https://dl.doubtnut.com/l/_WjuW601D6lhY

A 113

B.13.3

D.14

Answer: B

o Watch Video Solution

2. An electric motor winds 200 turns of a thin coper wire on a unifrom of
diameter 10 cm, in 2 seconds.then the length of the wire that is wound

over therod in onesecondis  m.

A.30

B. 107

C. 207

D. none of these


https://dl.doubtnut.com/l/_WjuW601D6lhY
https://dl.doubtnut.com/l/_eO5HpkNs5HfL

Answer: B

° Watch Video Solution

3. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum. The length of the penddulum is

m(ifg=10.s_2 and 72 = 10)

A2
B.1
C.0.5

D.0.25

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eO5HpkNs5HfL
https://dl.doubtnut.com/l/_MHCzJpqPiWzK

4. An athelete runs alongs a circular track of radius 14 m with a speed of

11m s~ ! then the time taken by the althete to complete 6 rounds is

A.48 s
B. 0.8 min
C.0.0133 h

D. All the above

Answer: D

o Watch Video Solution

5. A car is moving along a semicircular track ashsown in the figure in a

duration of 27 second from P to Q. then choose the correct statement (s).

P



https://dl.doubtnut.com/l/_XN9ByAHcuBwf
https://dl.doubtnut.com/l/_eGP9qJlTIlUF

A. The distance coverd by the car is 14 m.

B. The average velocity of the car is 2.23ms ~*

C. The average speed of the car is 3.5ms ™ 1

D.Both (b) and (¢)

Answer: D

o Watch Video Solution

6. A boy dropped a ball from the top of a tower of height 125 m then the

average velocity of the ball at the end of 5 second if it takes 5 s to reach

theground  ms !

A. 25

B. 125

C.50

D. 250


https://dl.doubtnut.com/l/_eGP9qJlTIlUF
https://dl.doubtnut.com/l/_MfMSBsYUt3wm

Answer: A

° Watch Video Solution

7. An electric fan rotates 100 times in one second. If the length of its wing

from its axis of rotation is 0.5 m . Then the speed of the fan is m

8_1

A. 1007

B. 507

C. 2007

D. 100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MfMSBsYUt3wm
https://dl.doubtnut.com/l/_wgNrZhypDGY0

8. An object moves the first half of the total distance with a speed of 2 m

s~ ! .If the average of the body is 3ms ~! , the speed of the body when it

travelles the remaining distance is ms~?

A3
B.6
C.4

D.2

Answer: B

o Watch Video Solution

9. An ant moves along the identical steps from P to Q as shown in the

figure in a figure in a duration of 8.5 seonds. Then the speed and velocity


https://dl.doubtnut.com/l/_BWhyhNrDHRXr
https://dl.doubtnut.com/l/_su6wLMCCyasi

of the ant respectively are ms 'and _  _ms

e m s~V and ms

AR A R

vemft Yam !
p € , s D B —> Q
A0S
T
B.0.5,0.5
55
177 17

D. Cannot be determined

Answer: A

o Watch Video Solution

10. An athelete moves along a path PQRSTUVP, in 44 seconds as shown in

the figure, then the average speed of the athlete is ms


https://dl.doubtnut.com/l/_su6wLMCCyasi
https://dl.doubtnut.com/l/_OHgVRpWaPq7T

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OHgVRpWaPq7T

1. A trian of length 200 m is moving along a circular path as shown in the

figure. If it completers one rotation with a speed of 54kmh ' , then the

time taken by it to trace the path is seconds.

A. 25

B.13.33

C. 26.66

D. 26

Answer: C



https://dl.doubtnut.com/l/_HC3BACJFfuAK

| ° Watch Video Solution

12. A body is dropped from the top of a tower. If its average velcoity when
it reaches the ground, is 10ms ! and the time taken by it to reach the

ground is 2s, the height of the tower is m.

A. 20
B.10
C.40

D. 25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HC3BACJFfuAK
https://dl.doubtnut.com/l/_ddxxv1jVzvI0

1. A simple pendulum makes 20 oscillations in one second on the surface
of the earth. Determine the time period of the simple pendulum on the
surface of a planet where the acceleration due to gravity is one fourth of

the acceleration due to gravity on the surface of the earth .

o Watch Video Solution

2. Which of the following distance - time graph is not possbile ? Explain

why?

Distance —

& o A

2 SR s e
Time —>

b4


https://dl.doubtnut.com/l/_3RcFXCCVJaET
https://dl.doubtnut.com/l/_fjyLdEzwGXzt
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o Watch Video Solution

3. The distance between two railwat stations A and B is 440 km. two
trains 77 and 75, start simultaneously from the stations A and B ,
respectively , and move twards each other. Then train 77 and 75 start
simultaneouslym from the station A and B respectively, and move towards
each other. the trainT; moves with a constant speed of 60 kmh ! and
the train T, moves with a speed of 50kmh ' , Determine the point

where they meet and the time taken for this.


https://dl.doubtnut.com/l/_fjyLdEzwGXzt
https://dl.doubtnut.com/l/_mu9dynhv2T7O

° Watch Video Solution

4. A body travels a distance of 500 m in 10 minute. Find out the speed of

the body in km A~ 1.

° Watch Video Solution

5. A student goes to school with a uniform speed of 3kmh ! and returns
to his home with a speed of 2kmh ~1 | if the student taken 1 hour in all,

then find out find distance between the school and the house.

° Watch Video Solution

6. Kishore walking with a uniform speed covers 20 km in 5 h. find the

distance he covers in 7 hours.

° Watch Video Solution



https://dl.doubtnut.com/l/_mu9dynhv2T7O
https://dl.doubtnut.com/l/_zL8RKoBxa5Gc
https://dl.doubtnut.com/l/_PU1dQpqdvdp4
https://dl.doubtnut.com/l/_jwl6CRyZCo2k
https://dl.doubtnut.com/l/_KBFkH35GJgx6

7. Determine the speed of the tip of a minute hand of length 10 cm of a

wall clock.

o Watch Video Solution

8. The distance- time graph for the motion of three vechicles,A , B and C

are as shown in the figure , Sy, SpndSc are the speeds, of AB and C,

respectively , compare the speeds of A, B and C.

Y

—>

Distance

o]

. ~ X
Time —>»



https://dl.doubtnut.com/l/_KBFkH35GJgx6
https://dl.doubtnut.com/l/_XSi3odvMBVxW

L = vvatlln viaco >0Iution )

9. Usha particpated in a marathon walk and completes the journey in 10 h.
if she travels half the distance with a speed of 10kmh ~! and rest of the
distance with the speed of 15kmh ~! then calculate the total distance of

the marathon walk.

o Watch Video Solution

10. Veckat went to his collage from his house on his car with a unifrom
speed of 60 kmh ~! and returns to his house with a different speed. If the
average speed of the car, for whole journey is 50km” ~! , then find the

speed of his car when it travelled from college to house.

o Watch Video Solution

11. A boy goes to a cycle shop by walk at 5kmh ! and comes back home

by cycle at a speed of 15kmh ~ ! , find out the average speed of the boy.



https://dl.doubtnut.com/l/_XSi3odvMBVxW
https://dl.doubtnut.com/l/_lcMOw9qW8Qd6
https://dl.doubtnut.com/l/_jwMdilrw4XCz
https://dl.doubtnut.com/l/_Jv3MQg9MGtik

| o Watch Video Solution

12. The distance between two stations A and B is 200 km. A train from A to
B at a unifrom speed of 60kmh ! , After half an hour another train
leaves B towards, A with a unifrom speed of 80kmh ! , Determine the

distance of the point from A where the two train s meet each other.

o Watch Video Solution

13. Ram dropped a cricket ball of mass 700 g from the top of a tower and
the ball takes 5 s to reach the ground. He then determined the maximum
velocity of the body by taking acceleration of the ball as 10ms 2 find out

the value of maximum velocity.

o Watch Video Solution

14. Raj dropped a cricket ball of mass 700 g from the top of a tower and

the ball takes 5 s to reach the ground. He then determined the maximum


https://dl.doubtnut.com/l/_Jv3MQg9MGtik
https://dl.doubtnut.com/l/_xzYsbJBU0qZD
https://dl.doubtnut.com/l/_GUSbr6XYJCRU
https://dl.doubtnut.com/l/_6DTPMjYkF1Of

velocity of the body by taking acceleration of the ball as 10ms 2 find out

the value of maximum velocity.

o Watch Video Solution

15. An ant moves a rectangular path as shown in the figure. It starts A and
moves with a uniform speed of 0.01ms ~! , Determine the average speed

after 1 hour.

T

4 cm |

1

° Watch Video Solution



https://dl.doubtnut.com/l/_6DTPMjYkF1Of
https://dl.doubtnut.com/l/_fOhOyVMYZv4l

16. The distance -time graph of a body moving in a straight line is shown
below. Draw the speed time graph of the motion of the body.

A

e
—

S

Distance (m)

0 0 W e W e 0
06 W6 S G0 OB M A B0 AR AN R A W

° Watch Video Solution

17. Asish took a challenge to cover a distance of 1 km in 1 minute on his
racing bicyle. If he covers half the distance in 3/5th of a minute. With

what speed should he ride the remaining journey on his biycle ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mJci8P0BzxDP
https://dl.doubtnut.com/l/_kgLCYieiyQLn
https://dl.doubtnut.com/l/_M2t5RQrafT6V

18. Draw position vs time graph of uniform velocity.

° Watch Video Solution

1. Can a paticle have

(i) zero speed and non - zero velocity ?
(ii) constant velocity but a varying speed ?

(iii) constant speed but a varying velcoity ?

° Watch Video Solution

2. A physics student obseved a train of 100 m long crossing a bridge of
length 245 m . If the train is moving with a velocity of 54kmh ! , he

determines the time taken by it to cross the bridge. Find his answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_M2t5RQrafT6V
https://dl.doubtnut.com/l/_hzheCdVeL5qo
https://dl.doubtnut.com/l/_WCSNTAuPDeaO

3. A body travels along a straight line for the first half of the total time
with a constant speed of 20ms ' and for the second half of the total
time with a constant speed of 30ms ! . Find the average speed of the

body.

o Watch Video Solution

4. A body starts moving from a point A along the boundaries of a square
field as shown in the figure and reaches the point C after 30 s. if its speed

is 1m s 1, what is the shortest distance between A and C ?

D C



https://dl.doubtnut.com/l/_U0hOQ8cwPOrw
https://dl.doubtnut.com/l/_nvJ8Iv3c9twV

° Watch Video Solution

5. Ram and Raj travel along a straight line from X to Y with different
unifrom speeds. Ram started from X and reaches the place Y in t s. if Raj
travels half of the total distance between X and Y in 2t s, determine the

ratio of speevds of Ram and Raj.

° Watch Video Solution

6. A car moving along a straight road with a speed of 72 km A1 | is
brought to rest within 3 s after the application of brakes. Calculate the

deceleration produced by the brakes.

° Watch Video Solution



https://dl.doubtnut.com/l/_nvJ8Iv3c9twV
https://dl.doubtnut.com/l/_ilwww3WTKWiY
https://dl.doubtnut.com/l/_NB8DqSivfsPj

1. Choose the correct statement:

A.The magnitudes of sped and velocity are the same when a body
travels in a straight line path.

B. The average speed of a moving body can be equal to zero, but its
average velocity cannot be equal to zero .

C. To describe the velocity , direction is necessary.

D. Both (a) and ( ¢)

Answer: D

° Watch Video Solution

2. Choose the correct statement (s)

A. Both speed and velocity have the same units.


https://dl.doubtnut.com/l/_vpIyjumsqJN4
https://dl.doubtnut.com/l/_uTbrj8P2Os65

B.If a body has a speed of 50ms ! in a striaght line path , then its
velocity is 180kmh ~ !
C. The speed of a vechicle is measured by a device called speedometer.

D. All the above

Answer: D

o Watch Video Solution

3. Assertion (A): When the length of a pendulum is 100 cm , the length
used to suspend the bod is less than 100 cm.
Reason ( R): The length of the pendulum is the distance between the
point of suspension and the bottom most point.

A.Both Aand R are true and R is the correct explanation of A.

B.Both A and R are true, but R is not the correct explanation of A.

C.Ais true but R is false

D.Both A and R are false.


https://dl.doubtnut.com/l/_uTbrj8P2Os65
https://dl.doubtnut.com/l/_00b4fsBuetLl

Answer: C

o Watch Video Solution

4. Assertion (A), If the speed of a car moving towards the east is 20ms -1 ,

its velcoity is 20ms ~ ! towards the east.

Reason ( R): The velocity of a body is spend in a specified direaction.
A.Both A and R are true and R is the correct explanation of A.
B.Both A and R are true, but R is not the correct explanation of A.

C.Ais true but R is false

D.Both A and R are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_00b4fsBuetLl
https://dl.doubtnut.com/l/_6cLacDff4zrf

5. The time taken by a simple pendulum to complete 20 oscillations is

given in the table as shown below

1 20 20

3 20 20)

study the and write the following steps in sequential order to determine
the frequency of its oscillations.
(A). Find the reciprocal of average time period (T).
(B). Find the ratio of time and number of oscillations.
(C). Find the average of the values obtained in the previous step.
A.BCA
B. ABC

C.ACB

D. Both (a) and ( ¢)


https://dl.doubtnut.com/l/_qPUGtnERKI4k

Answer: A

o Watch Video Solution

6. A farmer moves along a square field of side 10 m in one hour. Write the
following steps in sequential order to find his average speed.
(A) . Find th total distance (s) covered by the farmer.

(B) Note down the total time (t) required to cover the total distance.

total distance
total time

(C) Use the formula, average speed =

(D) Substiute the values of s and t to determine the average speed.

A. ABCD

B. ACDB

C. DABC

D. CDAB

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qPUGtnERKI4k
https://dl.doubtnut.com/l/_QRUQ0BmVBpBV

7. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure .

Then

From the given figure, the number of oscillation performed by the bob at

the end of 21s is

15 o go o o e - & e e

O >X

Displacement cm
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A3

B.4

C.2

D.3!/2

Answer: D


https://dl.doubtnut.com/l/_QRUQ0BmVBpBV
https://dl.doubtnut.com/l/_T4sO4qumJVY2

o Watch Video Solution

8. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure .

Then

The amplitude of oscillation of the pendulum of the bobis __ cm.

Displacement cm

A.15

B.5

C.25

D.75


https://dl.doubtnut.com/l/_T4sO4qumJVY2
https://dl.doubtnut.com/l/_CiNeo1N2Xhe7

Answer: A

o Watch Video Solution

9. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure .

Then

The number of oscillations completed by the bob in one second is .

Y
15 0
£
(&)
;c; 0 /\
g 3/6 \9 12 15/18 21
3
g ‘15¢, ..............
Time (3) ——>

Al/6
B.1/3

c.1/9


https://dl.doubtnut.com/l/_CiNeo1N2Xhe7
https://dl.doubtnut.com/l/_R0l9Ne2qhNtT

D.1

Answer: A

° Watch Video Solution

10. An electric fan rotates 100 times in 50s. If the of its wing from its axis

of rotation is 0.5 m, then the speed of particle at the edge of the wing is

D. 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_R0l9Ne2qhNtT
https://dl.doubtnut.com/l/_FgXd7EECm48I
https://dl.doubtnut.com/l/_zqr5ygXcuHZd

11. A person starts from a point P and travels along a path PQRS as shown

in the figure, then speed of the personis ms !
R
3m
Q 4m P

(20 seconds)

A.0.2

B. 20

D.04

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zqr5ygXcuHZd

12. The ratiro of unit of accceleration and velocity gives unit of the

physical quantity

A. time

B. frequency

C. amplitude

D. speed

Answer: B

o Watch Video Solution

13. The motion of a body is depicted graphically as shown in the given

figure. Then the average speed of the body is m


https://dl.doubtnut.com/l/_hB1sFz5MeXgh
https://dl.doubtnut.com/l/_utvARMIpW9IJ

) T

g,
o e A el WEL R S R M A ed

Distance (m)

P

> X

10 time (second)

ol

A.3/4
B.9/8
C.4/3

D.8/9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_utvARMIpW9IJ

14. An object moves the first half of the total distance with a speed of 2 m

s~ ! .If the average of the body is 3ms ~! , the speed of the body when it

travelles the remaining distance is ms~?

A3
B.6
C.4

D.2

Answer: B

o Watch Video Solution

15.
Column A Column B
(A)Rest and motion (a) car taking a turn

)Oscillatory and periodic

(B (b)Relative
(C)Translatory and rotatory (c
( (

Jmotion of the bob of a simple pendulum

D)Variable velocity d)Motion of the wheels of a bicycle in moti


https://dl.doubtnut.com/l/_R6Z6SiwqFl6F
https://dl.doubtnut.com/l/_1UrVqmIBUxoU

AA—bB—cC—dD—a

BA—bB—c¢,C—dD—d

CA—¢B—bC—d,D—a

DA —a,B—>¢,C—>bD—d

Answer: A

o Watch Video Solution

1. A horse is tied to a rope of length 5 m and the order end of the rope is

tied to a pole, find the displacement and the distance travelled by the
horuse in the following cases.

i. When the horse makes half revolution along a circular path.

ii. when it markes one full revolution.

3
iii. when it makes 7 th of the revolution.

o Watch Video Solution



https://dl.doubtnut.com/l/_1UrVqmIBUxoU
https://dl.doubtnut.com/l/_3FO8ce1WQqUs

2.A horse is tied to a rope of length 5 m and the other end of the rope is
tied to a pole. Find the displacement and the distance travelled by the
horse in the following cases.

When the horse makes half revolution along a circular path.

o Watch Video Solution

3.A horse is tied to a rope of length 5 m and the other end of the rope is
tied to a pole. Find the displacement and the distance travelled by the
horse in the following cases.

When it makes one full revolution.

o View Text Solution

4.A horse is tied to a rope of length 5 m and the other end of the rope is

tied to a pole. Find the displacement and the distance travelled by the


https://dl.doubtnut.com/l/_3FO8ce1WQqUs
https://dl.doubtnut.com/l/_HFI4hCcdmxHX
https://dl.doubtnut.com/l/_eP3OnOrgdD30
https://dl.doubtnut.com/l/_hG4t29DgTgDH

horse in the following cases.

3
When it makes 7 th of the revolution.

° View Text Solution

Test Your Concepts Very Short Answer Type Questions Fill In The Blanks

1. Two hour is equal to seconds.

° Watch Video Solution

2. The motion of moelecules in a solid is an example for motion.

° Watch Video Solution

3. One millisecond is part of a second.

° Watch Video Solution



https://dl.doubtnut.com/l/_hG4t29DgTgDH
https://dl.doubtnut.com/l/_sIJgxXvCKveJ
https://dl.doubtnut.com/l/_GhcGtwopyCES
https://dl.doubtnut.com/l/_pXKhYjlf0yEy

4. A body moving with a velocity of 10ms ! increases its velocity to

20ms ! in 2's. Then the rate of change in velocity is

° Watch Video Solution

5. A car moves with a contant velocity m its average velocity is equal to

° Watch Video Solution

6. The time period of a simple pendulum depends onits

° Watch Video Solution

7. A body moves with unifrom sped of u ms ! towards east , then the

body is said to possess velocity.

° Watch Video Solution



https://dl.doubtnut.com/l/_8eN06p3iSDFk
https://dl.doubtnut.com/l/_QQROm5ZytiMs
https://dl.doubtnut.com/l/_S7ELuyyJWKp0
https://dl.doubtnut.com/l/_wa1Mbslq5RqV

8. The time taken by the bob of a simple pendulum of time period (T) to

move from one exrtreme positon to other extreme position is equal to

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions Select The Correct

Alternative

1. Choose the correct statement:

A. The magnitudes of speed and velocity are same when a body travels

in a straight line path.

B. Average speed of a moving body can be equal to zero, but its

average velocity cannot be equal to zero.

C. To describe the velocity, direction is necessary.

D. Both (a) and ( )


https://dl.doubtnut.com/l/_wa1Mbslq5RqV
https://dl.doubtnut.com/l/_z9d63Eip0tkT
https://dl.doubtnut.com/l/_2wTcEuMm7hYj

Answer: D

° Watch Video Solution

2. The ratio of unit of acceleration and velocity gives unit of the physical

quantity

A. time

B. frequency

C. amplitude

D. speed

Answer: B

° Watch Video Solution

3.Unit of speed is


https://dl.doubtnut.com/l/_2wTcEuMm7hYj
https://dl.doubtnut.com/l/_XiD3dhaxgKM5
https://dl.doubtnut.com/l/_0grov9VMdl22

A.m min !

B.kmh !

C.kms !

D. All of the above

Answer: D

o Watch Video Solution

4. The motion of a body is depicted graphically as shown in the figure,

then the average speed of the body is ms—


https://dl.doubtnut.com/l/_0grov9VMdl22
https://dl.doubtnut.com/l/_DJPzK8vndfxC
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DJPzK8vndfxC

5. The speed of the tip of a second hand of length 5 cm of a clockis

ms !

Al

B. 60

C.5.3x1073

D.3.4 x 10°°

Answer: C

o Watch Video Solution

6. The time period of a pendulum is independent of

A. length of the pendulum

B. mass of the bob

C.shape of the bob

D. Both (b) and ( ¢)


https://dl.doubtnut.com/l/_5qdQz9uaNeek
https://dl.doubtnut.com/l/_J0Gf6d5oqbqW

Answer: D

° Watch Video Solution

7. The distance between two stations is 20 km. If a train moves with a
constant speed of 60 km h !, then the time taken by the train to reach

the next station is

A. 2 hour
B. 20 minute
C. 20 second

D. 40 minute

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_J0Gf6d5oqbqW
https://dl.doubtnut.com/l/_p4lCvz4aGJUf

8. The distance -time graph of an object is a straight line parallel to the

time axis , then the object is

A. at rest

B. in uniform motion

C. moving with a uniform speed

D. moving with a non-uniform speed

Answer: A

o Watch Video Solution

9. A car moves with a speed of 60 km h ~! for 20 min and then at a speed

of 30 km h ~! for the next 20 min. The total distance covered by the car is
A.10

B. 20


https://dl.doubtnut.com/l/_U9O9WmNhxd9V
https://dl.doubtnut.com/l/_oxJd1GFksgFo

C.30

D. 40

Answer: C

o View Text Solution

10. The distance- time graph of a body is as shown in the figure. The part
of the graph that represent the unifrom speed of the body is

Y

>
9!

Distance —>

\Y
x

Time —>

-0

A. OA

B. AB


https://dl.doubtnut.com/l/_oxJd1GFksgFo
https://dl.doubtnut.com/l/_0eO70cZGMX3O

C.BC

D. Both OA and BC

Answer: D

° Watch Video Solution

11. A body moves with a uniform speed of 10 km k! for 2 h. The average

speed of the body is kmh L

A.10
B. 20
C.5

D. 25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0eO70cZGMX3O
https://dl.doubtnut.com/l/_AfHNX1vWWaLQ
https://dl.doubtnut.com/l/_5OMCuDCOrL3Y

12. The distance-time graph of a moving vehicle is as shown in the figure.

F

Distance (m)
88 8 8 83

A. The speed of the vehicle is increasing with time.

B. The speed of the vehicle is decreasing with time.

C. The final speed of the vehicle is zero.

D. Graph is not possible.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5OMCuDCOrL3Y

13.1kmh'=_ ms L.

oo | Ot —_ = SN
o | Blov w|S

Answer: B

o Watch Video Solution

14. Choose the correct statement(s).

A. Speed and velocity both have same units.

Lin a straight line path, then its

B.If a body has a speed of 50 m s~
velocity is 180 km A~ 1.

C. Speed of a vehicle is measured by a device called speedometer.


https://dl.doubtnut.com/l/_aj7lyTYEwMyn
https://dl.doubtnut.com/l/_Px6D5XFCd4wH

D. All of the above

Answer: D

° Watch Video Solution

15. A person starts from a point P and travels along a path PQRS as shown

in the figure, then speed of the personis ms
R
3m
Q 4m P

(20 seconds)

A.0.2

B. 20

D.04


https://dl.doubtnut.com/l/_Px6D5XFCd4wH
https://dl.doubtnut.com/l/_CqrNQboLhV9Z

Answer: A

° Watch Video Solution

16. A simple pendulum was given to a physics student to determine its
time period. Arrange the following steps in sequential order to determine
its time period.

(A). Calculate the radius of the bob 'R' by divding the diameter by 2.

(B) Take a metre scale and measure the length of the string from the
point of suspension to the lower tip of the bob (I;)

(C). Place the bob over a meter scale and hold it in postion with two
wooden blocks of stiff cadboards. Measure the diamter (D)of the bob.

(D). NOW, the length of the pendulum (1) is given by (I; — R)

[l
E. Consider the formula T' = 2m. , | — calculate.
g

The time period of the simple pendulum.

A. ABCDE

B. EDCBA


https://dl.doubtnut.com/l/_CqrNQboLhV9Z
https://dl.doubtnut.com/l/_3tmf97ItUT8q

C. BCADE

D. DEABC

Answer: C

° Watch Video Solution

17. A body cover 20 m in 2 s and another 20 m in next 4s. Arrange the

following steps in sequential order to find th average velocity of the body

(A) Find the displacements of the body in first 2s and next 4 s from the
given data.

(B) find the displacements of the body .

(C) find the total time taken by the body to complete the total

displacement .

total displacement

D) Use the formula, average velocity =
() g 4 Total time taken

A. ABCD

B. ADCB


https://dl.doubtnut.com/l/_3tmf97ItUT8q
https://dl.doubtnut.com/l/_ZvQtNbJ1Ls8V

C. DCBA

D. DBCA

Answer: A

° Watch Video Solution

18. In the case of a simple pendulum, a graph is drawn between the
displacement and time taken for its oscillations as shown in the figure.

Then

Time period of the pendulumbobis s.

A.9

B.6


https://dl.doubtnut.com/l/_ZvQtNbJ1Ls8V
https://dl.doubtnut.com/l/_I6YptgfajsT5

C.45

D.3

Answer: B

o Watch Video Solution

19. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure.

Then

>

@

1
6
1
3


https://dl.doubtnut.com/l/_I6YptgfajsT5
https://dl.doubtnut.com/l/_YNBFkfN1lvU0

D.1

Answer: A

° Watch Video Solution

20. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure.

Then

A. 15


https://dl.doubtnut.com/l/_YNBFkfN1lvU0
https://dl.doubtnut.com/l/_9xb7H4twMlD8

B.5

C.25

D.75

Answer: A

° Watch Video Solution

21. In the case of a simple pendulum, a graph is drawn between the
displacement and time taken for its oscillations as shown in the figure.

Then



https://dl.doubtnut.com/l/_9xb7H4twMlD8
https://dl.doubtnut.com/l/_GlHhp94f8TAZ

From the given figure the number of oscillations per-formed by the bob

at theend of 21 s is

A3
B.4
C.2

D. 32

Answer: D

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions Match The Column

1. Match the entries given in Column A with the appropriate ones in

Column B.


https://dl.doubtnut.com/l/_GlHhp94f8TAZ
https://dl.doubtnut.com/l/_z1wrwdy57X0u

G Avenge wlocty () g Zewo velowity

° View Text Solution

2. Match the entries given in Column A with the appropriate ones in

Column B.


https://dl.doubtnut.com/l/_z1wrwdy57X0u
https://dl.doubtnut.com/l/_0PYtz1uKlQF9

A Curviliear motbon [} oo Moton tha repean

il an arregalar

ilervilh of hme

B Rectilinesr motion | ) b Wings of 3 ceiling fan

. Rotabory mtiomn { 1 « A dheell fored o
artidlery gum
D Body moving with ( ) d A sone dropped from
uniform velocity 8 torwer
E Length of 4 [ ) ¢ Point of sopetsion o
prrudualuemn thr rushpeosrst of thae
i ]
F Timeperiodofa ( ) £ Square mot of the
smple pendulum length of the pendulum
G MNon-perodic [ ) g Eero weeleration
MOon

° View Text Solution

3. Match the entries given in Column A with the appropriate ones in

Column B.


https://dl.doubtnut.com/l/_0PYtz1uKlQF9
https://dl.doubtnut.com/l/_VvxBJXIveCQr

A, Circubiy motion i} a Velucle cromeng over &
thyover bridge

B Rectilinesr motion ( ) b One to-and-fo

. B . b

L Curvilinear mobon () ¢ Detunce-ome graph n
4 vraghe b

Bopw () 4 100am

]
E  Comstant speed {1 e Time )

E Onillasion () £ Aspinning rop

;. The length of a { } g Com moving over s
weonds pendulum careoem board
feakee g = 10 m ™

° View Text Solution

Test Your Concepts Very Short Answer Type Questions Answer The Following

Questions

1. When can the speed and average speed of a vehicle be equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_VvxBJXIveCQr
https://dl.doubtnut.com/l/_rMo2wqDTajZt

2. While determining the time period of a simple pendulum, why the time

for 20 or more oscillations is found?

° Watch Video Solution

3. Define amplitude and frequency. Write their Sl units.

° Watch Video Solution

4. Name the physical quantity that measures fastness or slowness of a

moving object.

° Watch Video Solution

5. Two cars A and B move on a straight road for the same time. Car A

covers 80 m and car B covers 100 m. Which one of the two is faster?

° Watch Video Solution



https://dl.doubtnut.com/l/_i52a74rx4kaq
https://dl.doubtnut.com/l/_D2hwX07dOr47
https://dl.doubtnut.com/l/_5x4bvPyDkByL
https://dl.doubtnut.com/l/_GbMFF4tdG3aN

6. Assertion (A): Quartz clocks are more accurate than pendulum clocks.
Reason ( R): Quartz clocks use periodic motion of simple pendulum for

the measurement of time.

° Watch Video Solution

7. If the speed of an object is known, how can we find the distance

covered by it in a given time?

° Watch Video Solution

8. What are the different types of graphs that can be drawn to represent

the motion of a particle?

° Watch Video Solution



https://dl.doubtnut.com/l/_GbMFF4tdG3aN
https://dl.doubtnut.com/l/_gCCLPB658JMu
https://dl.doubtnut.com/l/_HGcdULtDSaOA
https://dl.doubtnut.com/l/_EBDg8tXajw3i

9. Give an example for simultaneous translatory and rotatory motion of a

ody

o Watch Video Solution

10. Define rest and motion.

o Watch Video Solution

11. Define acceleration and state its Sl unit.

o Watch Video Solution

12. What is a seconds pendulum? What is its approximate length?

o Watch Video Solution



https://dl.doubtnut.com/l/_0Ffe9BiPB1EK
https://dl.doubtnut.com/l/_uYa2TbEB3Ttt
https://dl.doubtnut.com/l/_bk0vjX2RUcpT
https://dl.doubtnut.com/l/_yB7GHgvKyIif

13. Find the relationship between the time period of the pendulum and

the length of the pendulum.

° Watch Video Solution

14. In a 100 m race, A touches the finishing line in 10.5 second and B

touches it in 11 second. Who is faster, A or B?

° Watch Video Solution

15. What is meant by average speed? How is it calculated?

° Watch Video Solution

16. When do we say that a pendulum has completed one oscillation?

° Watch Video Solution



https://dl.doubtnut.com/l/_DJStLrpceb9z
https://dl.doubtnut.com/l/_Fj6GXkLBWUue
https://dl.doubtnut.com/l/_GlcUYonFdjnR
https://dl.doubtnut.com/l/_t6dC4JTA6QpH

Test Your Concepts Short Answer Type Questions

1. Give two examples for each of the motion along a straight line, circular

motion and periodic motion.

° Watch Video Solution

2. Define velocity and explain how it is different from speed.

° Watch Video Solution

3. Derive the relation between acceleration, change in velocity and time.

° Watch Video Solution

4. Explain the terms : uniform motion and non-uniform motion with

examples.

| nlll,L,l,\'!,l,, o~ _01_ _n°*


https://dl.doubtnut.com/l/_vVoKf3IxTytf
https://dl.doubtnut.com/l/_QYmLVILIRr22
https://dl.doubtnut.com/l/_mAvAns4qRMOW
https://dl.doubtnut.com/l/_tEMOq3sSc4eJ

| % Vvaldn vVIAco 501utior ]

5. How are rest and motion relative ? Exaplain with an example.

° Watch Video Solution

6. A simple pendulum of length 'I' and time period 'T' on earth is taken
onto the surface of moon. How should the length of the simple pendulum
be changed on the moon such that the time period is constant.

(Take g. = 6g,,,)

° Watch Video Solution

Test Your Concepts Essay Type Questions

1. Describe the experimental method to determine the time period of a

simple pendulum.

° Watch Video Solution



https://dl.doubtnut.com/l/_tEMOq3sSc4eJ
https://dl.doubtnut.com/l/_7gyT8IhaixDH
https://dl.doubtnut.com/l/_dWIYH5oatTUV
https://dl.doubtnut.com/l/_tt6YIJtlcCGh

Concept Application Level 1 True Or False

1. One hour is equal to 3600 second.

° Watch Video Solution

2. The motion of a simple pendulum is an example of oscillatory motion. ?

° Watch Video Solution

3. A nanosecond is one billionth of a second.

° Watch Video Solution

4. When an object is moving with a unifrom speed, its average speed is

equal to its speed



https://dl.doubtnut.com/l/_tt6YIJtlcCGh
https://dl.doubtnut.com/l/_nCnySke6CORd
https://dl.doubtnut.com/l/_MOEOmAgVIvNC
https://dl.doubtnut.com/l/_LtEiDIQVBYms
https://dl.doubtnut.com/l/_lBrfhFfDfhyu

| ° Watch Video Solution

5. We can use a simple pendulum to measure the time.

° Watch Video Solution

6. By using distance-time graph we can find out the average speed of an

object.

° Watch Video Solution

7.Speedoneter is used to measuere the distance travelled by a vehicle.

° Watch Video Solution

8. The distance-time graph of the motion of an object moving with a

contant speed is a straight line.



https://dl.doubtnut.com/l/_lBrfhFfDfhyu
https://dl.doubtnut.com/l/_tYcRBmpVuphe
https://dl.doubtnut.com/l/_PgwIggMtLfy3
https://dl.doubtnut.com/l/_AnaIVJXtJbWH
https://dl.doubtnut.com/l/_3Mh8p2VnsLns

| Y Watch Video Solution

Concept Application Level 1Fill In The Blanks

1. measures the distance moved by a vehicle.

° Watch Video Solution

2. A body is said to be moving with unifrom speed if it covers equal

distance in

° Watch Video Solution

3. One microsecond is of a second.

° Watch Video Solution



https://dl.doubtnut.com/l/_3Mh8p2VnsLns
https://dl.doubtnut.com/l/_uMduXcfQpxFW
https://dl.doubtnut.com/l/_Vt5U1dyD4WKy
https://dl.doubtnut.com/l/_8a3wcFiWeyNJ

4. S| unit of speed is

o Watch Video Solution

5. One Kilometer is equal to metre.

o Watch Video Solution

6. The time taken by the pendulum to complete one oscillation is

o Watch Video Solution

7. The distance coverd by an object in a unit time is known as the

of the object.

o Watch Video Solution



https://dl.doubtnut.com/l/_VR5AV9139kS0
https://dl.doubtnut.com/l/_H6CgDNJpp7zz
https://dl.doubtnut.com/l/_59P83Qm09znM
https://dl.doubtnut.com/l/_mcoiMQPO0g7F
https://dl.doubtnut.com/l/_OFqLx7IVRb3C

8. An object moving along a straight line with a constant speed is said to

o Watch Video Solution

9. The speed of the bob of a simple pendulum is maximum at its _

o Watch Video Solution

10. The time period of a simple pendulum of length 1 m is second.

(take 72 = 10, g = 10ms ~2)

o Watch Video Solution

Concept Application Level 1 Select The Correct Alternative

1. Choose the correct statement:


https://dl.doubtnut.com/l/_OFqLx7IVRb3C
https://dl.doubtnut.com/l/_9ZnYvF8DNAOe
https://dl.doubtnut.com/l/_FK9UftzQxigG
https://dl.doubtnut.com/l/_kySgX92D06D9

A. Every oscillatory motion is periodic in nature.

B. Every periodic motion is oscillatory in nature.

C.The motion of a pendulum bob is periodic in nature (within its

small amplitude).

D. Both (a) and ( ¢)

Answer: D

o Watch Video Solution

/1
2.T = 2m, | — is the time period of a simple pendulum, then the unit of
g

l
47rzﬁ in Sl systemis


https://dl.doubtnut.com/l/_kySgX92D06D9
https://dl.doubtnut.com/l/_7wguiF7vzjQB

Answer: C

° Watch Video Solution

3.The speed of a body can never be

A. positive

B. negative

C.zero

D. Both (a) and ( ¢)

Answer: B

° Watch Video Solution

4. The motion of a body is depicted graphically as shown in the given

figure. Then


https://dl.doubtnut.com/l/_7wguiF7vzjQB
https://dl.doubtnut.com/l/_Ug4I7VfxJnH2
https://dl.doubtnut.com/l/_OtUUQYqIDjCF
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A. The average speed of the body is 2ms 1.
B. The average speed of the body is zero.
C. The body changes its direction twice.

D. All of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OtUUQYqIDjCF

5. A body travels 10 m in 2s then the speed of the bodyis  ms

A. 20

B.40

C.5

D.10

Answer: C

o Watch Video Solution

1

6. A body moves with a speed of 2rms ™ " in a cirular path of radius Tm,

then the time taken to compete one revolution is

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_QTIhqbDYEapU
https://dl.doubtnut.com/l/_FpiDiCBWlIfA

Answer: A

° Watch Video Solution

7. The odometer of a bus reads 6700 kim when it starts from the station
at 9a.m. and when it comes back to the sation at 10 p.m. the odometer
reading is found to be 6960 km, then the average speed of the bus in the

would journey is kmh !

A.10
B. 20
C.30

D. 40

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FpiDiCBWlIfA
https://dl.doubtnut.com/l/_37GtA8mX68Mw

8. A pendulum completers 120 oscillations hin one minute then the time

period of the pendulum is s.

A. 05

B. 120

C.2

D.3

Answer: A

o Watch Video Solution

9. A body moves with a contant speed of 10ms ! for 1 hour. The distance

travelled by the body is

A. 36,000 km
B. 36 km

C. 24 km


https://dl.doubtnut.com/l/_iXesISruzQ6J
https://dl.doubtnut.com/l/_qWYQ5XUBr7UO

D.24 x 10®° m

Answer: B

° Watch Video Solution

10. It takes 1 s for the bob to moves from one extreme position to other

extreme postion. Then the time period of the pendulumis __ s.

Al

B.2h

C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qWYQ5XUBr7UO
https://dl.doubtnut.com/l/_Fm6po1gXC1Ca

11. A body projected upwards from the top of a builing is an example of

A. uniform motion

B. non-uniform motion

C. periodic motion

D. oscillatory motion

Answer: B

o Watch Video Solution

12. Distance versus time graph of an object is as shown in the figure. The

average speed of the object is ms


https://dl.doubtnut.com/l/_EuaoGh2J3yBc
https://dl.doubtnut.com/l/_yhCbvtsKNsyp
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A.0.08

B.0.5

C.1

D.2

Answer: A

° Watch Video Solution

_ kmh!

13.20ms !


https://dl.doubtnut.com/l/_yhCbvtsKNsyp
https://dl.doubtnut.com/l/_Szu3KOwCc36m

A 125

B.72

C.50/9

D.32

Answer: B

o Watch Video Solution

14. Choose the correct statement:

A. Unit of acceleration is ms 2

B. Speed = distance/time.

C. If a body moves with uniform velocity, its acceleration is zero.

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Szu3KOwCc36m
https://dl.doubtnut.com/l/_CSenxiq2r7fR

15. A car drive accelerates the car to increase its speed from 30 km A~ ! to
60kmh ~! in 5 min. Arrage the following steps a sequence to obtain the
acceleration of the car.

(A) Use the formula , rate of «change of \velocity =

Total change in veclocity

Total time required for change

(B) Obtain the final velocity (v) , of the car.

(C) Find the time taken to increase the speed of the car from u to v let it
be 't'

(D) find the initial velocity (u) of the car.

(E) Substitute the values in the formula and calulate the acceleration of

the car.

A. EABCD

B. ABCDE

C. DBCAE

D. EDCBA


https://dl.doubtnut.com/l/_CSenxiq2r7fR
https://dl.doubtnut.com/l/_Wldco7l29d7S

Answer: C

o Watch Video Solution

16. Find the acceleration due to gravity on the surface of the moon by
taking a seconds pendulum from the earth's surface. Arrange the
following steps in sequential order to solvbe the above problem.

(A) Find the time period of this simple pendulum on the surface of the
moon using a stop clock [T}]

(B) The acceleration due to gravity on the moon (gm) is 1/6th the

accleration due to gravity on the earth (ge).

(C) Use the formula , T = 27 /i
g

(D) first , take pendulum to the surface of the moon without altering the

length of the pendulum (1), .

T
(E) Substibe the value of T} in (a), then £ g—M, and obtain the value
v\ gE

of (gm)

A. ABCDE


https://dl.doubtnut.com/l/_Wldco7l29d7S
https://dl.doubtnut.com/l/_GV7qhZmpKElv

B. DACEB

C. CBADE

D. CABED

Answer: B

o Watch Video Solution

17. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.find the no of oscillation?
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https://dl.doubtnut.com/l/_GV7qhZmpKElv
https://dl.doubtnut.com/l/_JGrR2AQ4J27Z

C.50

D. 100

Answer: A

o Watch Video Solution

18. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.find the no of oscillation?
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https://dl.doubtnut.com/l/_JGrR2AQ4J27Z
https://dl.doubtnut.com/l/_VBW8vbRsrmia

Answer: B

° Watch Video Solution

19. The time taken to complete 100 oscillations is

A

AT

t(seébnd)

Displacement (m)

A.100

B. 200

C.50

D. 25


https://dl.doubtnut.com/l/_VBW8vbRsrmia
https://dl.doubtnut.com/l/_IT4TN21QDCSm

Answer: B

° Watch Video Solution

Concept Application Level 1 Match The Column

1. Match the entries given in Column A with the appropriate ones in

Column B.

. U:Enmrjr moton [ ) 4. [Memnce -nm.np!

is nod o skraight line

.

B Routorymotion [ ) b Speed ¥ time
L. Seconds pendulum [ ) ¢ Musical sstrumenes
D Distance travelled () 4 The rate of change
' of motkon in specific
direction
E. Vartable speed () e Poners wheel
B Velocity { Y E 2%

° View Text Solution



https://dl.doubtnut.com/l/_IT4TN21QDCSm
https://dl.doubtnut.com/l/_ZNvYyV0sjqn9

2. Match the entries given in Column A with the appropriate ones in

Column B.

o View Text Solution

3. Match the entries given in Column A with the appropriate ones in

Column B.


https://dl.doubtnut.com/l/_hgRpzjb0ZbQJ
https://dl.doubtnut.com/l/_b5R1e8c3wNo5

o View Text Solution

Concept Application Level 2 Select The Correct Alternative

1. A vechicle travels along a straight path between two places a and 3. It

travels first half of the distance with a velocity of 72 km A~ ! and the

remaining distance with a velocity of 36 km h ~! then the average velocity


https://dl.doubtnut.com/l/_b5R1e8c3wNo5
https://dl.doubtnut.com/l/_s0Im3peIgaev

of the vehicle is ms

04 B

A 11.3

B.13.3

D.14

Answer: B

o Watch Video Solution

2. An electric motor winds 200 turns of a thin coper wire on a unifrom of
diameter 10 cm, in 2 seconds.then the length of the wire that is wound

over therod in onesecondis  m.

A.30


https://dl.doubtnut.com/l/_s0Im3peIgaev
https://dl.doubtnut.com/l/_IqDDMSBQbBJU

B. 107

C. 207

D. None of these

Answer: B

o Watch Video Solution

3. A graph is drawn between the displacement and time taken for the
oscillations of a simple pendulum is 2s. The length of the penddulum is

m(ifg=10s % and 72 = 10)

A2
B.1
C.0.5

D.0.25

Answer: B

[ - 1


https://dl.doubtnut.com/l/_IqDDMSBQbBJU
https://dl.doubtnut.com/l/_AkBWsaKF6KuK

| @J Watch Video Solution J

4. An athelete runs alongs a circular track of radius 14 m with a speed of

11m s~ ! then the time taken by the althete to complete 6 rounds is

A .48 s
B. 0.8 min
C.0.0133 h

D. All of the above

Answer: D

o Watch Video Solution

5. A car is moving along a semicircular track ashsown in the figure in a

duration of 27 second from P to Q. then choose the correct statement (s).


https://dl.doubtnut.com/l/_AkBWsaKF6KuK
https://dl.doubtnut.com/l/_RPT8ND1SLC81
https://dl.doubtnut.com/l/_XofoO7K3E6Y6

A. The distance covered by the car is 14 m.

B. The average velocity of the car is 2.23 m s~ 1.

C. The average speed of the car is 3.5ms 1.

D. Both (b) and ( ¢)

Answer: D

o Watch Video Solution

6. A boy dropped a ball from the top of a tower of height 125 m then the

average velocity of the ball at the end of 5 second if it takes 5 s to reach

theground  ms !

A. 25


https://dl.doubtnut.com/l/_XofoO7K3E6Y6
https://dl.doubtnut.com/l/_M6KGUeprNfE4

B. 125

C.50

D. 250

Answer: A

° Watch Video Solution

7. An electric fan rotates 100 times in one second. If the length of its wing

from its axis of rotation is 0.5 m . Then the speed of the fan is m

8—1

A. 1007

B. 507

C. 2007

D. 100

Answer: A

[ - 1


https://dl.doubtnut.com/l/_M6KGUeprNfE4
https://dl.doubtnut.com/l/_T6JERTlWKtTf

| @J Watch Video Solution J

8. An object moves the first half of the total distance with a speed of 2 m
s~ 1. If the average of the body is 3ms ! , the speed of the body when it

travelles the remaining distance is ms

A3
B.6
C.4

D.2

Answer: B

° Watch Video Solution

9. An ant moves along the identical steps from P to Q as shown in the

figure in a figure in a duration of 8.5 seonds. Then the speed and velocity


https://dl.doubtnut.com/l/_T6JERTlWKtTf
https://dl.doubtnut.com/l/_iDi3I1FmEhsZ
https://dl.doubtnut.com/l/_OYBp731nGRS5

of the ant respectively are ms 'and _  _ms

e m s~V and ms

AR A R

i - E
Am mml/il;n »»»»» »mwn»&ﬁq--vmwn**kh&-ﬁ—-
p € ' e 2.5 M > Q

D. Cannot be determined

Answer: A

o Watch Video Solution

10. An athelete moves along a path PQRSTUVP, in 44 seconds as shown in

the figure, then the average speed of the athlete is ms


https://dl.doubtnut.com/l/_OYBp731nGRS5
https://dl.doubtnut.com/l/_hgzWS2X8TRPc

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hgzWS2X8TRPc

1. A trian of length 200 m is moving along a circular path as shown in the

figure. If it completers one rotation with a speed of 54kmh ' , then the

time taken by it to trace the path is seconds.

A. 25

B.13.33

C. 26.66

D. 26

Answer: C



https://dl.doubtnut.com/l/_81rmY0uS3SD4

| o Watch Video Solution

12. A body is dropped from the top of a tower. If its average velcoity when
it reaches the ground, is 10ms ! and the time taken by it to reach the

ground is 2s, the height of the tower is m.

A. 20
B.10
C.40

D. 25

Answer: A

o Watch Video Solution

13. A simple pendulum makes 20 oscillations in one second on the surface

of the earth. Determine the time period of the simple pendulum on the


https://dl.doubtnut.com/l/_81rmY0uS3SD4
https://dl.doubtnut.com/l/_SwuWT5aZHXHV
https://dl.doubtnut.com/l/_uDGJDdg9JUQG

surface of a planet where the acceleration due to gravity is one fourth of

the acceleration due to gravity on the surface of the earth .

° Watch Video Solution

14. Which of the following distance-time graphs is not possible? Explain

why?
i1 a FJ]
T L3
— 1
§ : \
3
* Tirma —}: & ¥
Tirr —3
(3 i d]
.1|. k3
T 1 /
L * - i
i Timm —» . Time —&

° Watch Video Solution



https://dl.doubtnut.com/l/_uDGJDdg9JUQG
https://dl.doubtnut.com/l/_6XUtPyucbTGt

15. The distance between two railwat stations A and B is 440 km. two
trains 717 and T, start simultaneously from the stations A and B ,
respectively , and move twards each other. Then train 77 and 75 start
simultaneouslym from the station A and B respectively, and move towards
each other. the trainT; moves with a constant speed of 60 kmh ! and
the train T, moves with a speed of 50kmh ! , Determine the point

where they meet and the time taken for this.

o Watch Video Solution

16. A body travels a distance of 500 m in 10 minute. Find out the speed of

the body in km A~ 1.

o Watch Video Solution

17. A student goes to school with a uniform speed of 3kmh ! and
returns to his home with a speed of 2kmh 1 , if the student taken 1 hour

in all, then find out find distance between the school and the house.


https://dl.doubtnut.com/l/_qel4iirZdM9v
https://dl.doubtnut.com/l/_t9DvdFsnkTDN
https://dl.doubtnut.com/l/_h1nykqceM8XZ

° Watch Video Solution

18. Kishore walking with a uniform speed covers 20 km in 5 h. find the

distance he covers in 7 hours.

° Watch Video Solution

19. Determine the speed of the tip of a minute hand of length 10 cm of a

wall clock.

° Watch Video Solution

20. The distance- time graph for the motion of three vechicles,A, B and C

are as shown in the figure , Sy, SpndSc are the speeds, of AB and C,


https://dl.doubtnut.com/l/_h1nykqceM8XZ
https://dl.doubtnut.com/l/_dZHjcSLniioU
https://dl.doubtnut.com/l/_cnftvs4ywU8E
https://dl.doubtnut.com/l/_qSirATxYl9nv

respectively , compare the speeds of A, B and C.
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o Watch Video Solution

21. Usha particpated in a marathon walk and completes the journey in 10

h. if she travels half the distance with a speed of 10kmh ~! and rest of

the distance with the speed of 15kmh ' then calculate the total

distance of the marathon walk.

o Watch Video Solution



https://dl.doubtnut.com/l/_qSirATxYl9nv
https://dl.doubtnut.com/l/_Isl5Y1Q4MSjd

22. Vikash went to his collage from his house on his car with a unifrom
speed of 60 kmh ~! and returns to his house with a different speed. If the
average speed of the car, for whole journey is 50km” ~! , then find the

speed of his car when it travelled from college to house.

o Watch Video Solution

23. A boy goes to a cycle shop by walk at 5kmh ' and comes back home

by cycle at a speed of 15kmh ~ ! , find out the average speed of the boy.

o Watch Video Solution

24. The distance between two stations A and B is 200 km. A train from A
to B at a unifrom speed of 60kmh ~! , After half an hour another train
leaves B towards, A with a unifrom speed of 80kmh ! , Determine the

distance of the point from A where the two train s meet each other.

.y l


https://dl.doubtnut.com/l/_Isl5Y1Q4MSjd
https://dl.doubtnut.com/l/_lkxrEKKs2zPY
https://dl.doubtnut.com/l/_PbOa5KQSiFop
https://dl.doubtnut.com/l/_jUT0AmNAS2Ry

L = vvailln viaco S0Iution )

25. A train starting from a railway station and moving with uniform

acceleration attains a speed 40km /h in 10 minutes. Find its acceleration.

o Watch Video Solution

26. Raj dropped a cricket ball of mass 700 g from the top of a tower and
the ball takes 5 s to reach the ground. He then determined the maximum
velocity of the body by taking acceleration of the ball as 10ms 2 find out

the value of maximum velocity.

o Watch Video Solution

27. An ant moves a rectangular path as shown in the figure. It starts A and

moves with a uniform speed of 0.01ms ! , Determine the average speed


https://dl.doubtnut.com/l/_jUT0AmNAS2Ry
https://dl.doubtnut.com/l/_ZAwNDASFqg3S
https://dl.doubtnut.com/l/_OdRmGwNqoHNs
https://dl.doubtnut.com/l/_X2zXwYSUL6rw

after 1 hour.

C ) B
4 cm !

B s—————— A

b ¢———— B Ccm >

o Watch Video Solution

28.The distance -time graph of a body moving in a straight line is shown

below. Draw the speed time graph of the motion of the body.


https://dl.doubtnut.com/l/_X2zXwYSUL6rw
https://dl.doubtnut.com/l/_MixINEPNtp8B
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° Watch Video Solution

29. Asish took a challenge to cover a distance of 1 km in 1 minute on his
racing bicyle. If he covers half the distance in 3/5th of a minute. With

what speed should he ride the remaining journey on his biycle ?

° Watch Video Solution

30. A body moves along a straight line. In every t-s the speed of the body

decreases uniformly to half of the original speed. Draw the speed-time


https://dl.doubtnut.com/l/_MixINEPNtp8B
https://dl.doubtnut.com/l/_uswEj8hfdrhy
https://dl.doubtnut.com/l/_ZeMXsaGxLN30

graph of the body.

° Watch Video Solution

Concept Application Level 3

1. Can a paticle have

(i) zero speed and non - zero velocity ?
(ii) constant velocity but a varying speed ?

(iii) constant speed but a varying velcoity ?

o Watch Video Solution

2. A physics student obseved a train of 100 m long crossing a bridge of
length 245 m . If the train is moving with a velocity of 54kmh ! , he

determines the time taken by it to cross the bridge. Find his answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZeMXsaGxLN30
https://dl.doubtnut.com/l/_NN1qAYnSYpjq
https://dl.doubtnut.com/l/_TxbhMAoMT0Hm
https://dl.doubtnut.com/l/_IWBuL2Nmp0qW

3. A body travels along a straight line for the first half of the total time
with a constant speed of 20ms ! and for the second half of the total
time with a constant speed of 30ms ! . Find the average speed of the

body.

o Watch Video Solution

4. A body starts moving from a point A along the boundaries of a square
field as shown in the figure and reaches the point C after 30 s. if its speed

isTm s_l, what is the shortest distance between A and C?

D C



https://dl.doubtnut.com/l/_IWBuL2Nmp0qW
https://dl.doubtnut.com/l/_Pa4cRMnRuSo7

l o Watch Video Solution J

5. Ram and Raj travel along a straight line from X to Y with different
unifrom speeds. Ram started from X and reaches the place Y in t s. if Raj
travels half of the total distance between X and Y in 2t s, determine the

ratio of speevds of Ram and Raj.

° Watch Video Solution

6. A car moving along a straight road with a speed of 72 km A1 , is
brought to rest within 3 s after the application of brakes. Calculate the

deceleration produced by the brakes.

° Watch Video Solution

Assessment Test Test 1 Select The Correct Alternative

1. Choose the correct statement.


https://dl.doubtnut.com/l/_Pa4cRMnRuSo7
https://dl.doubtnut.com/l/_guyEjZzDlZ7f
https://dl.doubtnut.com/l/_ClZ9mjmQ69zy
https://dl.doubtnut.com/l/_L4XIYfwRhs7P

A.The magnitudes of speed and velocity are the same when a body

travels in a straight line path.

B. The average speed of a moving body can be equal to zero, but its

average velocity cannot be equal to zero.

C. To describe the velocity, direction is necessary.

D. Both (a) and ( ¢)

Answer: D

o Watch Video Solution

2. Choose the correct statement(s).

A. Both speed and velocity have the same units.

B.If a body has a speed of 50 m s~ *

in a straight line path, then its
velocity is 180 km A~ !,

C. The speed of a vehicle is measured by a device called speedometer.


https://dl.doubtnut.com/l/_L4XIYfwRhs7P
https://dl.doubtnut.com/l/_USmSctXJa3ce

D. All of the above

Answer: D

° Watch Video Solution

3. Assertion (A): When the length of a pendulum is 100 cm , the length

used to suspend the bod is less than 100 cm.
Reason ( R): The length of the pendulum is the distance between the
point of suspension and the bottom most point.

A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but is not the correct explanation of A.

C.Ais true but R is false.

D. Both A and R are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_USmSctXJa3ce
https://dl.doubtnut.com/l/_Odtwqpk5C57G

4. Assertion (A), If the speed of a car moving towards the east is 20ms ™ 1 ,

its velcoity is 20ms ~! towards the east.

Reason ( R): The velocity of a body is spend in a specified direaction.
A.Both A and R are true and R is the correct explanation of A.
B. Both A and R are true, but is not the correct explanation of A.

C.Ais true but R is false.

D.Both A and R are false.

Answer: A

o Watch Video Solution

5. The time taken by a simple pendulum to complete 20 oscillations is

given in the table as shown below


https://dl.doubtnut.com/l/_ZRJM4bYNEBTG
https://dl.doubtnut.com/l/_EBQY1JTDVaNb

1 20 20
3 20 20)

wn
N
(@)
S}

study the and write the following steps in sequential order to determine
the frequency of its oscillations.
(A). Find the reciprocal of average time period (T).
(B). Find the ratio of time and number of oscillations.
(C). Find the average of the values obtained in the previous step.
A.BCA
B. ABC

C.ACB

D. Both (a) and ( )

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EBQY1JTDVaNb

6. A farmer moves along a square field of side 10 m in one hour. Write the
following steps in sequential order to find his average speed.
(A) . Find th total distance (s) covered by the farmer.

(B) Note down the total time (t) required to cover the total distance.

total distance

(C) Use the formula , average speed = -
total time

(D) Substiute the values of s and t to determine the average speed.

A. ABCD

B. ACDB

C. DABC

D. CDAB

Answer: A

° Watch Video Solution

7. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure.


https://dl.doubtnut.com/l/_vAZjulDEDbS0
https://dl.doubtnut.com/l/_qVAY1q5hPxEG

Then

Time period of the pendulum bobis _s.

A3
B.4
C.2

D. 33

Answer: D

o Watch Video Solution

8. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure.


https://dl.doubtnut.com/l/_qVAY1q5hPxEG
https://dl.doubtnut.com/l/_m7yFAyU2yM4Y

Then

Time period of the pendulum bobis _s.

A. 15

B.5

C.25

D.75

Answer: A

o Watch Video Solution

9. In the case of a simple pendulum, a graph is drawn between the

displacement and time taken for its oscillations as shown in the figure.


https://dl.doubtnut.com/l/_m7yFAyU2yM4Y
https://dl.doubtnut.com/l/_iujCic4DOPSn

Then

Time period of the pendulumbobis s.

Al/6
B.1/3
c.1/9

D.1

Answer: A

° Watch Video Solution

10. An electric fnas rotates 100 times in 50s . If the blength of its wing

from its axis of rotation is 0.5 m, then the speed of particle at the edge of


https://dl.doubtnut.com/l/_iujCic4DOPSn
https://dl.doubtnut.com/l/_AOnwir5NBbMj

the wing is ms

A 27

B.0.5m

D.2

Answer: A

° Watch Video Solution

1. The ratiro of unit of accceleration and velocity gives unit of the

physical quantity

A. time

B. frequency

C. amplitude

D. speed


https://dl.doubtnut.com/l/_AOnwir5NBbMj
https://dl.doubtnut.com/l/_b56QUK1YwDtu

Answer: B

° Watch Video Solution

12. Motion of a body is depicted graphically as shown in the figure. The

average speed of the bodyis ms !
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https://dl.doubtnut.com/l/_b56QUK1YwDtu
https://dl.doubtnut.com/l/_aCvobqhih5aV

Cc.4/3

D.8/9

Answer: A

° Watch Video Solution

13. An object moves the first half of the total distance with a speed of 2 m

s~ 1. If the average of the body is 3ms !, the speed of the body when it

travelles the remaining distance is ms !

A3
B.6
C.4

D.2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aCvobqhih5aV
https://dl.doubtnut.com/l/_htqkoHV8MowV

14. Match the following

_MJ Hoewt and monon 9} A car ulong » turn

) Owcillstory and ) Relate

() Trarmlatory srd ) Monon of te bob of 3
oty ampie pendulum

D) Varisble velocity  (d) Motion of the wheeh
g of a bicycle in moton

AA—bB—cC—dD—a
BA—bB—c¢,C—dD—d
CA—¢B—bC—d,D—a

DDA —a,B—>¢,C—>bD—d

Answer: A

° Watch Video Solution

Assessment Test Test 2 Select The Correct Alternative


https://dl.doubtnut.com/l/_htqkoHV8MowV
https://dl.doubtnut.com/l/_UbutuvQmPOZ5

1. Choose the correct statement.

A. Every oscillatory motion is periodic in nature.

B. Every periodic motion is oscillatory in nature.

C.The motion of a pendulum bob is periodic in nature (within its

small amplitude).

D. Both (a) and ( ¢)

Answer: D

o Watch Video Solution

2.Choose the correct statement.

A. Unit of acceleration is m s 2.

B. Speed = distance/time.


https://dl.doubtnut.com/l/_hz1AvqwxVK59
https://dl.doubtnut.com/l/_P9TRk2quuJWk

C. Magnitude of displacement made by a body is less than or equal to

the distance travelled by the body.

D. All of the above

Answer: D

o Watch Video Solution

3. Assertion (A): Quartz clocks are more accurate than pendulum clocks.

Reason ( R): Quartz clocks use periodic motion of simple pendulum for

the measurement of time.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true, but is not the correct explanation of A.

C.Ais true but R is false.

D.Both A and R are false.

Answer: C

[ - 1


https://dl.doubtnut.com/l/_P9TRk2quuJWk
https://dl.doubtnut.com/l/_rLFYzMUwsuay

| @ Watch Video Solution J

4. Assertion (A): The acceleration of a body moving with constant velocity
is zero.
Reason ( R): Acceleration is the rate of change in velocity.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true, but is not the correct explanation of A.

C.Ais true but R is false.

D.Both A and R are false.

Answer: A

o Watch Video Solution

5. The time period of a simple pendulum is 4 s and the acceleration due
to gravity at the given place is 9.8ms 2 . Write the following steps in

sequential order to find the length of the pendulum.


https://dl.doubtnut.com/l/_rLFYzMUwsuay
https://dl.doubtnut.com/l/_Ompuy5mpdpcr
https://dl.doubtnut.com/l/_sSDj4GsA6lKq
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(B) Note the given values of the time period (T) and acceleration due to

(A) From the above formula, write the value of l and [ =

gravity (g).

[l
(C)Write the formula, T' = 2w,/ — , where | is the length of the
9

pendulum.

(D). Substitute the given data and get the value of [.
A. CDBA
B. ABCD
C.BCAD

D. ADBC

Answer: C

o Watch Video Solution

6. A car starts from and attains a velocity of 54 km A ~! if the acceleration

of the car is from rest and attains a velcoity of 54 km h~! . If the


https://dl.doubtnut.com/l/_sSDj4GsA6lKq
https://dl.doubtnut.com/l/_xJ1dnC2Sqriy

acceleration of the car is 3ms ~2, write the following steps in sequential
order to find the time taken to accelerate the car.

(A) Write the relation between u,va and t, where t is the time taken to
accelerae the car.

(B) Note the final velocity (v) and convert it into Sl unit.

v—u
(D) substitute the given values and obtain the vlaue of t using t =

a

A. ADBC

B. ABCD

C.CADB

D. CBAD

Answer: D

o Watch Video Solution

7. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.find the no of oscillation?


https://dl.doubtnut.com/l/_xJ1dnC2Sqriy
https://dl.doubtnut.com/l/_lX2KV0c17BFB
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Displacement (m) —>

B.5
C.6

D. 22

Answer: B

o Watch Video Solution

8. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.find the no of oscillation?


https://dl.doubtnut.com/l/_lX2KV0c17BFB
https://dl.doubtnut.com/l/_pnoR7uQZfPx9
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Displacement (m) —>

B.1

C.05

D.0.25

Answer: B

o Watch Video Solution

9. A graph is drawn between the displacement and time taken for the

oscillations of a simple pendulum.find the no of oscillation?


https://dl.doubtnut.com/l/_pnoR7uQZfPx9
https://dl.doubtnut.com/l/_ywTpMwGk9Euv
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Displacement (m) —>

A. 05

B.2

C.50

D. 100

Answer: A

o Watch Video Solution

10. An electric motor winds 200 turns of a thin coper wire on a unifrom of

diameter 10 cm, in 2 seconds.then the length of the wire that is wound

over therod in onesecondis  m.


https://dl.doubtnut.com/l/_ywTpMwGk9Euv
https://dl.doubtnut.com/l/_o6FZR9cBJAfV

A.30

B. 107

C. 20w

D. None of these

Answer: B

o Watch Video Solution

11. An ant moves along the identical steps from P to Q as shown in the

figure in a figure in a duration of 8.5 seonds. Then the speed and velocity

of the ant respectively are ms land _ _ms

. M s7hand

SR ——— WP

2l vm -

koSS S5 S0 SN NS 005 306 200 OB 0 A8 A0 N e IO e N e

p € e 28 ) > Q



https://dl.doubtnut.com/l/_o6FZR9cBJAfV
https://dl.doubtnut.com/l/_FOnlmd7qNbLh

4.5

A 0.9, —
0.5, 11
B.0.5,0.5

5 45
1717

D. Cannot be determined

Answer: A

o Watch Video Solution

/1
12.T = 27, | — is the time period of a simple pendulum, then the unit of
[

l
47T2ﬁ in Sl systemis

Answer: C


https://dl.doubtnut.com/l/_FOnlmd7qNbLh
https://dl.doubtnut.com/l/_mB5Ofou8fG2O

° Watch Video Solution

13. The motion of a body is depicted graphically as shown in the given

figure. Then
Y
A

H e

= ]

-1 .
I
-
=

A2

B. zero

C. 200

D. 20


https://dl.doubtnut.com/l/_mB5Ofou8fG2O
https://dl.doubtnut.com/l/_QXAvjtfHkSou

Answer: A

o Watch Video Solution

14. A vechicle travels along a straight path between two places a and S.
It travels first half of the distance with a velocity of 72 km k! and the

remaining distance with a velocity of 36 km h ~! then the average velocity

of the vehicleis ms
i
| -— ]

04 B

A.11.3

B.13.3

D.14

Answer: B

(e |


https://dl.doubtnut.com/l/_QXAvjtfHkSou
https://dl.doubtnut.com/l/_wx4GdCN0wyF6

| ¥ vvatch Video Solution

15.

AA—bB—cC—dD—a

BBA—d,B—bC—a D —c

CA—d,B—a,C—bD—c

DA —a,B—bC—c¢,D—d

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_wx4GdCN0wyF6
https://dl.doubtnut.com/l/_RuWnEeQ6p4Do

